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V=3.1x27.5+0.1x30.6
V=1.8x27.5+1.7x14.2+1.5x13.2+0. 7x 30. 6
V=0.1x27.5+0.1x30.6
V=0.3%27.5+0.3x14.2+0.3x13.2+0.3x 30. 6
V=16.3x27.5

V= 88.3-5.8/0.9

V=

V= (448.3+25.7) /0.9-114.9

V=

A= 1.9%27.5+1.6x14.2+ 1.4x13.2+0.8%30. 6

V=1.4x54.9

A= 1.45x54.9

3m2/18E8RT
FREE

V= 0.2x30.6

>

= 1.9x30.6
= 0.2x30.6/10
= 0.8%30.6

T T

V=10.11x10.9
A= 0.30%x10.9
A= 0.11x10.9/10
A= 0.45%10.9

<

=0.18x27.5

>

= 0.75x27.5
= 0.18x27.5/10
= 0.70x27.5

T T

A= 14.0x27.5

L= 0.9x2+30.6

>

= 0.9%30.6
V=27.5x0.1

<

= 0.03x30.6

88.3 m3
114.9 m3
5.8 m3

25.7 m3
448.3 m3
81.9 m3
81.9 m3
354.7 m3
354.7 m3
117.9 m2

76.9 m3
®HY
®HY
HY
79.6 m2
®HY
®HY

6.1 m3
58.1 m2
0.6 m2
24.5 m2

1.2 m3
3.3 m2
0.1 m2
4.9 m2

5.0 m3
20.6 m2
0.5 m2
19.3 m2

385.0 m2

54.9m

32.4m
27.5 m2
2.8 m3
2.8 m3

0.9 m3
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